ICT (BFERCEBER/NV ) 2FEALEEEFHEE)

S (S LF
S R I 248 348
1 = {1
5 mEEee Gt |HEERIR | |132r-v2v%8E
N yAN A\
3 =t (F-X-38) |HERBRI
O/O/A A
A =t (F-%£-8) RS
O/O/A O
2 &F
W F ™
S 18 | 28 | 34
1 2 f
wresEl | BB (%38 %8
2
AN N |A/TT
HEEA/ BAEFEA |5¥8 538
3
YAV AN AN/TT
. H5REABEFA| HHEB
YAVIAN O
3F
W RF =
S 148 | 2@ | 3@ | 481
1 = 1
, R1E| BAEB %=1
N \ N
HEREI| IRAKXB |[Bas® 1 | IRIKANXB
3
@) N N N
*5 IR(XB | £
4
\ N N,/ /A
O : 2ERANyay, BFEREDICER
O 2FARXyavyo#rEFER
A T BFEROA%EER
O KBEBREBSE (oY zo48— - =28 —) OA%aHFEA
@ TRUFyTyaY (CAIHKEZE) oxuEH
N : | CTH#SREFERET



